BNTE4L4B208 ONS\VDITN\ZAXE) T8, £2B8H

A% AN =YY —

(28-0 : 20254.5)

\\gl\

G = ¥ TO.
siue |[AB| ISC Vs BB | @8 | WD | WD
FOY IR 8| AT Vs EHL | IEUISS| I | IS
some |A|B NEHR Vs FE | B | HEB | E0E
1099 Iglg| WILD vs I | AEB | SHiE | S
sone |A|B BB Vs AT INEMEE| BB | wE
WSO~ 1glg| s#dy vs =t | WD | iR | iR
same A|BIVEME Vs R | BBB | AmB | A
1259~ g lg| WILD vs E | SHE | DB | oy
soma A|B| I Vs BE | =B | RS | S
13:30~ B
some |AB| AT Vs IWEHR | MR | TS | EES
40~ gl E®EE Vs WILD | SHE | mes | e
some |A|B| BE Vs BHHL | AWB | US| /iR
1999 g lg| =t vs JIW | BES | WD | WD
L EHESBB>

(1) HEFAEE. 5-(1)-5-(3)-5-(1)-5T17lL\. BIEAERTHE 10 P TRASEEBLET,
(2) BB 900 T,




BNTE4L4B208 ONS\VDITN\ZAXE) T8, £2B8H
=15 EEPERIEBE (R-0 :202545)

G = ¥ TO.
sqme | C|Z WER  vs BH pea ey % %
O Iplu| @ vs m | Obx | gPRa | PR
some |C|Z| T3 Vs EE | wMERg | BEZ | EEK
199" 114 OB vs @RE | B | BEx | BEZ
saus |C|Z| BB Vs @ | & | ERg | K
S Inlu | ®mm vs wiER | OBz | PRy | PREX
same |C|%Z| I vs g | mEE& | @k | 8
1299% b l»| OB vs AR | mitr | RERu | meRg
seue C|Z| PPE vs BB | Mgz | K | B
13:30~ D |4
coue |C|Z| B vs X | pEEg | wEg | BB%
0~ Ip lw| dEm vs OB | mmy | EFg | R
mome |C|Z| BEE VS VI 7194 % %
999% b 4| kR vs @FRE | Mg | Oex | OBZ
L EHESBB>

(1) HEFAEE. 5-(1)-5-(3)-5-(1)-5T17lL\. BIEAERTHE 10 P TRASEEBLET,
(2) BB 830 TY,




